= =
g =
= 3

s o 107
2102} 5
Sl 555 :

i
<
N

-3
10 1072

H

<
L
T

A
2
L

o n N o E v e
= o b S 12F-- : -
N e 1 1 1 A SRR VR g F ]
104 r : o 1F--1H T | HF

o i { ] { ] E | :

il e |l (T - BT+ 0.8F-- H- 24

E ; It : ! b E :

E : 0.6F-- T

3 -2 -1 3

0 1 2 3 - -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—— DQM_TT_ORIGINAL

—— DQM_TT__MODIFIED_layerProcv2
—— DQM_TT__MODIFIED_layerProcv2_OctoberVersion

£ £

S S
<10 S

o 210
) s}

102

0'_

[3)]

o 7t .|| 010—3_|||||||||!||||!| ||!|||||||||
b= E N b= 1.4 ! 1l 141
15F--- PR R - FHE A 4R ek - - - - o 4 : :
S © 1z - - i
1;_ H i o k1 -¥ +4 H 1:_ bl 43 L] H : 4 . 3 THI4
F 08k
3 -2 =3 -2 -1

0 1 2 3 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

L 1oF---HHH-HHH H ;

¢ F b .

o 1 - - A1 - T 4 4 Hi LML T
0.8F- ;
0.6F-

3

2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


